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The  answer to the test is option 3: the woman had a bad crash in 

the car. 
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What was extraordinary and providential was the fact that she did not receive any 

injuries at all.  

 

The Dominant Feature is the conjunction of the two most violent planets, Mars and 

Pluto, on the 3rd Cusp (Roads and Transport) – a violent crash on the roads. The 

quincunx to Uranus adds a third malefic, typical of accidents. 

 

 

The present instance the Month Age Harmonic shows the Part of Fortune at 27Li53 

right on the 3rd Cusp at 27Li40. Maybe we can say that it protected her from further 

injury. 

 
 

                          --- 
 

 

 

8 Astrologers participated in the Test. 3 found the correct answer. Below follow their 

answers in order of receipt. 

 

 

S.L. Narasimhan (India) 
Method KCIL using SSL  

 

Dasa running on given date was Mars-Jupiter-Venus-Mercury-Jupiter   

All these Planets are operating 1-4-8-12 indicating vehicle accident.  

Moon transiting over Jupiter sign (bhukti lord) Venus star ( Antra lord).   Moon star 

Venus itself 8th SSL  confirms accident.   

Progressed position of Moon and Ascendant doubly confirm the event  
 

 

 

M. Kaiser (France) 

uses Solar Eclips/Lunar return/ Quotidian 

 

The solar eclipse on June 30th  was in opposition to Mercury, almuten of the 1st House, 

and sextile with Mars, almuten of the 3rd  and the 8th , and Saturn, almute of the 6th . This 

eclipse was activated by a trine sent by Mercury on October 13th , i.e. the eve of the 

event. 

 



 Zodijack© 

In the lunar revolution, Venus, almuten of the 1st  and Lord of the Year, was in square 

with Saturn, almuten of the 12th  in the 12th  

The Sun, almuten of the 3rd  and the 6th , was posited in the 8th  in its fall. It was in square 

with Mars, almuten of the 3rd , which was posited in the 3rd . 

The Sun and Mars were in square with Uranus. 

 

The same pattern was to be found in the quotidian chart: the Sun, almuten of the 3rd  in 

its fall sign, was sending a square to Mars, almuten of the 6th , and to Uranus posited in 

the 8th . 

Moreover, the Moon, which was the almuten of the 1st , the 3rd  and the 12th , was 

conjunct to the Ascendant, but in the 12th House. From there opposite Venus, almuten of 

the 12th  conjunct Pluto. 

 

There are a lot of testimonies related to the 1st the 3rd , the 6th  and the 12th . The accident 

looks the most likely to me. 

 

 

 

 

Chiarastella Ghersani (Italy) 

uses the AH Technique 

 

Moon in Sagittarius 4th House square Saturn and Jupiter in Virgo 1st House  

Moon sextile Sun in Libra 2nd House 

Moon sextile Venus and Mercury in 6th House 

Sun trine Mercury and Venus 

Mars conjunct Cusp of the 3rd House 

 

 

 

--- 

 

 

Thank you all for your contributions! A new Test will be published to the website 

round and about June 1st  


